RBPEYYH—ER

o X &8 &

LERBUE

TOKAI

AT ARUTUR—42023 [EiE)

2FR8

y—4  ZE5fh

B B 2023558210  (A) 10:00 | A& | 909 =55 mEHXREE-—ISVUF
x & B |EvFReEl XRE2 | BE |x@E! %2 (RiwmA| B © 10 A
EEEEE A% GA Bl &1 I M= FADEL B hix FMW
e = ¢ Bl & 2 AT Bk FCEkE ! K ZER
5 / ® / B i B 0 B / B / B
Ik B2 K 2 1 —— 3 B KA
KICK OFF 0 « %= 0 & :|: 3 e 7 — 10
xR a—hk vl =zl m [& B va—h xR
sn| &F | mF m| ®FE |2l @ |s| BFAE \5IH] ww | w¥ |56
HT 0 AR &8 | 23|cklek|101] kB BE 0
0 aHiE D 29 |DF|DF|100] FAIiE WE 0
0 | D BAKER |5 |DF|DF[36| st EA 1 1
0 B/f "R 3 [DF|DF| 89| fEh ¥th 11 1
14 0 fE 1%E |24|DF|DF| 5 A% K— 0 73
0 iE EA 4 (MFIMF| 18| =% #&F 1 1 60
24 1 0 B wmA  [18|MF|MF[117] WA X& 1] 3 1 2 73
0 #E B |[14|MF|MF[ 14| RRE X#t 3 1 2 73
78 0 ® i 13|MF|MF|114| BB 13 1 1 HT
0 Al W% | 11|FW|FW| 8 Ml ER 1 1 60
1 1 1 BX K |27|FWlFw|21| T=E #X 0 HT
23 0| REMA #AX | 1]|ck|oF|97| #HHF Fik 0 5
13 0 B =%  |16|DF|DF| 95 IR B
B @ | 15|MF|MF[10e] B & 1 1 14
24 0 B XE [17|MF|MF[105] fEE S50 0 117
9 0 TE E 44|MFIMF| 74| Fih BA 0 18
18] 78 0 B #5 9 [FWIMF|109] /iy E4 2 2 114
MF| 69| k& @Az
Fw|1o| 0O #®A 1] 4 4 21
FW| 34| K# fath 3 3 8
2 L5815 BEE BEE 2 E£-R 15
B | B/ K & Il E— 1l H— S NEEE K &
* FF
65 | c2 [13 LRE3 o | ae - s e |35 | C2 |8 Ml Rk
1 2 3 [ va—r| 21 4 | 17
6 7 13 G K 2 1 1
1 1 2 C K 9 6 3
5 6 11 | E#EFK| 10 3 7
1 2 3 | mEFK| 3 2 1
1 1 2 |@Fovad| 2 2 0
0 0 0 P K 0 0 0

GE1) 71'7&4!5*&'10)%&?(; Fﬁ*&?l)—ﬂey');ﬁw)% 71'7#4’}4‘1—;/5%0)%%L,n\6
[Z4£EH] ClRAR—

[RI5HEH) S1:§L<TE&7I/(~ SZ:EL%K-MTZ%‘ SS:?[iﬂi%‘ S4:1%r.‘f—:'\1§§ﬂﬁit($) . SS:T?)?\%%BEJJ:(M) . SG:%E- .CSEE

2[8]

BR[| F—L B/aE T AL 237 BEREB(~ FUTIL > T59UFRR 1 FEHSR x BB SYa—k HiAT L)
14 | BEX |27 BAR BEX [13] & Mix 1 - 0 |[HCK: 13 T ifige1i 27 § HS

54 [mAXA([10! 40O #A (1170 B X& [ 1 - 1 |1l 117 ] — | 10 {BES

66 | mAXA |17 NE K& |10i $80 #/A | 1 - 2 |dR1i 10 § — | 17 iHRES

75 | mMAXA (89 fEF, Iith [100f /MY FEA | 1 - 3 | ECKi 109 1 ifhsR1i 89 | HS

[B&E]



